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Ccontoh 1

If a retaining wall 5 m high is restrained from yielding, what will be the at-rest earth pressure per

meter length of the wall? Given: the backfill is cohesionless soil having ¢ = 30° and y= 18 kN/m’,
Also determine the resultant force for the at-rest condition.
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Ccontoh 1

If a retaining wall 5 m high is restrained from yielding, what will be the at-rest earth pressure per
meter length of the wall? Given: the backfill is cohesionless soil having ¢ = 30° and y= 18 kN/m’.
Also determine the resultant force for the at-rest condition,

K,=1-sing=1-5in30° =05

From Eq. (11.1b}, 6, = K,y H=0.5 x 18 x 5 = 45 kN/m?

x (.5x 18 x 5% = 112.5 kN/m length of wall
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RANKINE — AKIHE = KORESIE

- RANKINE

Tanah Kohesif 2 Tension Crack

Tension crack = mengurangi nilat
tekanan tanah aktif, menambah nilal
tekanan tanah pasif
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Rotation of wail
about this point
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